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Aptitude & Mental Ability Set 7
If the diameter of sphere is doubled, the increase in its surface area will be
a.100% b.200% c. 300% d. 400%
Q1 Camengdlest aflL_L LD G WLRISTH MG 6Tevfled BiGesT LMUILITLIL] 6165560657 FSHaigHL0
31 5fl&EW0?
a.100% b.200% c. 300% d. 400%
Solution
Let the radius ber
Now the surface area = 4n(r) 2 = 4nr?
The radius of the sphere is doubled.
The radius = 2r.
Now the surface area = 4n(2r)? = 16mr2.
Increase % in area = 16mr2-4nr2/4mnr2 * 100 = 12/4*100 = 300%
A sum of money at compound interest doubles itself in 15 years. It will become eight
times of itself in
a. 60 years b. 54 years c. 48 years d. 45 years
(1 OBMensWTesTg) Sal (heully all&lss5l60 15 246501886160 2 L MkIE S ImE) sTesllev
615560607 4685T(H561l6b UG HTemS 8 L RISM(EGW0?
a. 60 years b. 54 years c. 48 years d. 45 years
Solution
Given that A sum of money doubles itself at compound interest in 15 years.
2P=P(1+ 1% )15
2=(1+ =)'
For 8 years
8P = P(1 + r/100)"
8=(1+—)n"

100
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2=+ 550"
(1 +1/100)*%)3 = (1 + r/100)"
(]. + E)“'S = (1 + E)n
n=45
3. The smallest 3 digit prime number is

a. 101 b. 107 c. 109 d.113

et @6v568 LSFF MW LIS 6T6s0T 6157

a. 101 b. 107 c.109 d. 113
Solution
Prime numbers are the number that are divisible only by two whole numbers : 1 and
itself.
The smallest three digit number is 100 which is not a prime number because it is has
more than two factors such as: 1, 2, 4, 5, 10, 20, 25, 50 and 100. After 100, the number 101
comes which is a prime number because it has only two factors: 1 and 101.

4. If AB=4:6,B:C=18:5 then the ratio of AB:Cis
a.11:12:18 b.12:18:7 c.12:18:5 d. 18:5:7
AB=4:6,B:C=18:5 eresflev A:B:C samevt allflgd

a.11:12:18 b. 12:18:7 c.12:18:5 d. 18:5:7

Solution

A:B=4:6

B:C=18:5

A is the product of all terms appearing under column (1) = (4 * 18)

B is the product of 27¢ term under column (1) beginning from second row and first term
under column (2) = (18 *6)

C is the product of all terms appearing under column (2) =( 6 * 5)
ABC=(4*18):(18*6):(6*5)

AB:C=72:108:30
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AB:C=12:185
5. Simplify :
a 4 b 15 c2-qa? .
If-= -and - = —then is
b 5 c 16 c24+a?
1 7 3 6
a.- b. — C.- d.-
7 25 4 5
2= % pimmb 2= 2 eredfléd =% eredTLl
b 5 Do c 16 c2+4a? 8l
1 7 3 6
Sl7 b 35 8-; i3
Solution
. b 15
G1ven,3= - and - = —
b c 16

now, (c2 - a?)/(c? + a?)

“{i-5

{1+

(-5
{(1+&

so, we have to find %

a 4 b 15
—-= -a - = =
b 5 c 16
G b _2,15 _3
b c 5 16 4
a

223/4..... 2)

now, sub equation (2) in equation (1),

3

{1-3%
(1+ 3

1--=)
{1 + 9/16}
(16 - 9)
(16 +9)

=7
25
6. The surface area of a cube is 96 cm?. Find its volume
a.16 cm? b. 48cm? c. 64 cm3 d. 27cm?
QI B6vT FFINSH6tT QeusttliLifiiy 96 &.01&.15 eTevtl6b S6v116T6Y SIT6TDT.
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a.16 cm?® b. 48cm? c. 64 cm? d.27cm?
Solution
let the length of the side of a cube =acm
total surface area of the cube = 6a2 square cm ----- (1)
Total surface area of the cube = 96 square cm ------ (2)
Equate (1) =(2)
6a2 =96
az=16
a=+v16
a=4cm
Now volume of the cube = a ® cubic cm
=43
= 64 cubic cm
= 64 cm?3
7. A sum of Rs. 12,000 deposited at compound interest becomes double after 5years. After
20 years, it will becomes

a. Rs. 192,000 b. Rs. 1,20,000 c. Rs. 1,24,000 d. Rs. 60,000

gal (h eulllpuilev (p&eS(H QawliulL 5.12,000 Qg TenswTeg) sbSMD 6u(BL (Plpailsd

QessT(h L MISTES ASIMG) 61651160, iHSH QSHMeng 20-1D su(HL (igailey sTeusu6Tey

S EWN(HEEWD?

a. Rs.1,92,000 b. Rs. 1,20,000 c. Rs. 1,24,000 d. Rs. 60,000
Solution

12000 double in 5 years

after 5 years = 24000
after 5 years = 48000

after 5 years =96000
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after 5 years = 1,92,000
after 20 years it will be 192000

8. Kamal invested Rs. 3,000 to a 1 year at 7%per annum. Find the simple interest and the
amount received by him at the end of one year.

a. 210, 3210 b. 200, 3200 c. 180, 3180 d. 260,3260
BHLO6V 61T p6BtTIoM (& 7% el Ly eiG G Slev er. 3000 CFLA&EH M. umesst(h (Wipalled 6T
QuMId F6vfl EuL gD, QFHTEMSHENWILLD SHT6TOTS.

a. 210, 3210 b. 200, 3200 c. 180, 3180 d. 260,3260

Solution

_ 3000% 1x7
100

=210

Total amount = principal + interest
= 3000 + 210 = 3210

9. The difference between 78% of a number and 59% of the same number is 323. What is
62% of that number?

a. 1037 b. 1054 c. 1159 d. 1178

e GUILUILL etettevatlstt 78% mmIb 59%8@ QevLCuiwnesst aflgHlwingb 323 etesflev 216
6T6BTENDT160T 62% SH85IT6TT LOSILIL| 6TEUG6TEY?

a. 1037 b. 1054 c. 1159 d. 1178
Solution

Let the number be N.

According to the question,

(78 - 59)% of N = 323

19N
100

- N = 82x100 _ 4700
19

=323

- 62% of 1700 = (=) * 1700 = 1054
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10.

11.

12.

Calculate the area of a quadrant of a circle of radius 21cm?

a. 346.5 cm? b. 322.7 cm? c. 308.8 cm? d. 288.7 cm?
21 Q&.15 SpT(peiTer smeveul L LI LGS wilest LIFLiLI6Tey SessT.

a. 346.5 cm? b. 322.7 cm? c. 308.8 cm? d. 288.7 cm?

Solution

-1
area of quadrant = = 7.”.2

"—+Z %21 +21=346.5 cm?
Volume of a hemisphere is 19404 Cu cm. it's radius is
a.10.5 cm b.17.5cm c.2lcm d. 42 cm

210 1&ECH TS S6tT Hev1aieney 19404 Cu cm 6T6vfl6b 1565 41T 6T65T60T?

a.10.5cm b.17.5cm c.2lcm d. 42 cm
Solution
volume of hemisphere = 19404 cm?

Volume of hemisphere = gnr-*
2 = 19404

223 219404
44713 =19404x%21
3 = 441x21
r=21

radius = 21 cm

Simplify: ¥81 + /216 + ¥/32 =7

a.10 b. 11 c.9 d. 4
F(H&GS: V81 + V216 + V32 =7

a. 10 b. 11 c.9 d. 4
Solution

V81=33%3%3%x3=3
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13.

14.

V216=36+x6+6=6

V32=%2%2%2%2%2=2

=3+6+2=11

Find the number which is 15% less than 240

a. 220 b. 200 c.215 d. 204

24083 el 15% (860 6UT6TT 6165516565818 SHIT6T0TS.

a. 220 b. 200 c.215 d. 204
Solution
15 percent of 240
=15 %240
100
=36

15 percent of 240 = 240-36=204

If the total surface area of a solid semi sphere is 6757 sq.cm, then its curved surface
areais

a.243 w sq.cm b. 340 7 sq.cm C. 450 T s.cm d. 240 7 sq.cm

(1 SlevoTd SemTsCanend et QMEHsL UpLLFLy 6751 &.61&.15 eTesflev, D& 65T auememLILIL
6T6oTLIG)|

a.243 w sq.cm b. 340 7 sq.cm c. 450 T sq.cm d. 240 7 sq.cm

Solution

Total Surface Area of hemisphere = 675 cm?

Total Surface Area of hemisphere = 3 nr?

3nr? =675

r2 =675% 2%
3 22
r?2=225cm
Curved surface area = 2 nr?
Sub the r? value in the above formula

=2*m*15=450 m sq.cm
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15. An almirah is sold at Rs. 5225 after allowing a discount of 5%. Find its marked price.
a. Rs. 5000 b. Rs. 5500 c. Rs. 6500 d. Rs. 5575
(15 Sieowoifl 5% sefemLiguilev . 5225/- &@ allhaslLbBEHmE) eevfley, g6t GMSs allenev
6T65T60T?
a. Rs. 5000 b. Rs. 5500 c. Rs. 6500 d. Rs. 5575
Solution
SP = Rs 5225

Let MP be x

Discount = 5% of x
=(>)x = 0.05x

100

SP = Marked price - Discount
5225 = x - 0.05x
0.95x = 5225

X = 222 = 5500
Marked price = Rs 5500
16. The fourth proportional to 5, 8, 15 is
a.18 b. 20 c.21 d. 24

5, 18, 15 st1 46ug) all&Hs5608 s6vst(hLill.

a.18 b. 20 c.21 d. 24

Solution
Let the fourth proportional to 5, 8, 15 be x.
Then,5:8:15:x
5x = (8 x 15)

x = 8X15) x515) = 24.
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17. A car covers a distance of 432 km at the speed of 48 km/hr. In how many hours will
the car cover this distance?
a. 6 hours b. 7 hours c. 9 hours d. 12 hours

symestg) 432 £iGeur 8L Lev)y HL58 Wevslla@ 48 HlGsum W LT Goussdlev GFev&mg!.

SIHGHMTHOG SHeOLUSN (& S 61(H5HSHCS&MEMEHLD 6wt GBLD eTeueu6Tey?

31. 6 el @B . 7 WwevslI@roird
8. 9 wesllGmMd i 12 wessfl@md
Solution

Distance = Speed * Time

. distance
Time =
Speed

Time = %
Time =9 hrs
18. Simplify:
ERVI _ 152 _
(147 + )% — (147 - )? =
a. 7 b.5 c. 147 d 14
&(HSHES.
(147 + 2)2 — (147 — —)? =
42 42
a. 7 b.5 c. 147 d 14
Solution
From the formula (a - b)? and (a + b)?
L1y2= 24 ()2 - 1= L
(147 + )%= (147)2 + () —2* 147 + —=21609 + ——+7
A2 _ _ N2 _ _r - _r
(147 + )% — (147 — )% = (21609 + ——+7) ~ (21609 + ——~7)
=21609+—+7-21609- — +7 =14
1764 1764
19.If ab = 2: 3 and b :c= 5:7 then find ab:c
a.21:15:10 b. 15:10:21 c. 10:15:21 d. 21:10:15
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a:b= 2:3 etesflev b:c= 5:7 etevflev ab:c-6tr LI Hrevors.
a. 21:15:10 b.15:10:21 c. 10:15:21 d. 21:10:15
Solution
A is the product of all terms appearing under column (1) =(2*5) =10
B is the product of 2" term under column (1) beginning from second row and first term
under column (2) =(5*3) =15
C is the product of all terms appearing under column (2) =( 3 * 7) =21
ab:c =10:15:21
20.If x + i = 3 then x5+ﬁ is equal to
a.123 b. 83 c.92 d. 112
X+ % = 3 eT6nl60 x5+é &(& FLOLOTEVTH)
a.123 b. 83 c. 92 d. 112
Solution
X+ % = 3 (Squaring on both sides)
from the formula (a +b)?, the term (x + i)z is expanded as
x2+—+2=32
x2+=+2=9-2=7
X+ i = 3 (cubing on both sides)
from the formula (a + b)3, the term (x + %)3 is expanded as
X3 +—+3(x+-)= 3
x3+==27-3(3)
x3+==18
(x2+%)( x3+%)= x5+$+§+x (a*m*a*n=a*(m+n))
T418= X5+—+(x+)
126-(x+i)= x5+$
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21.

126-3= x5+$

x5+ =123

A distance is covered in 3 hours 48 m at 5 kmph. How much time will be taken to
cover it at 28.5 kmph?

a. 40 min b. 20 min c. 30 min d. 38 min

&(5 evflgest Skmph Geusddlev GMIUILNLL gMysHensg 3 wessll 48 HISILGHlev HL&ESH mmesT.

b Wevllgetr 9B FyHems 28.5kmph CeuasgHlev sLLILIGM G, sTeusueTey GBI S ELD?

3. 40 HlislLib 3. 20 BISILLD
. 30 BlslL1b i 38 BlslLLb
Solution

Distance = Speed * Time

3 hours 48 mins at 5km per hour

5km in 60 mins

5000 meters in 60 mins

The minutes in 3 hours 48 mins = 180+48 = 228mins

5000meters in 60 mins

5000*=" = 19000 meters

19000 meters covered in 228 minutes

total distance coverd is 19 kilometers in 3 hours 48 mins
how much time at 28.5

28.5 km into meters — 28.5%¥1000 =28500 meters

28500 meters in 60 mins
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19000*—"_= 40 mins
28500
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